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Thato fell off his bicycle and spilled the bag of salt he was carrying. He collected
the salt off the ground together with sand and tree leaves and put the mixture in
a plastic bag.

In the table below, describe the steps used by Thato to separate the salt from the
mixture of salt, sand, and leaves. State a reason for doing each step.
The first step has been done for you.

Step Description of Step Reason for Carrying Out the Step
1. | Putthe mixture through a sieve. This will remove the leaves.
2.
3.
4.

N3/t O | UayZ CEyght ND&lzo 6 y G+ ODAH A Oy o+ 0 |
42000k Ga 0 ajdieined @S SaPEByra T.n 00 T! & 047 a4
(sSi\Jdes ) @Py+iGKedY Opa . @P d2! & § Z2 ODAZ ¢
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Note: i) Fully correct responses include:

Step 2. Reference to addition of water to dissolve the salt or reference to a salt solution (implies
addition of water).

Step 3. Reference to the mixture being filtered (sifted, decanted) to remove the sand.

Step 4. Reference to the salt water being boiled (heated, left out in the sun) to evaporate the
water (and leave the salt behind).

ii) Fully correct responses may only use the spaces beside steps 2 and 3.

Code | Response Item: 042083

Correct Response

20 | Refers to the processes in steps 2, 3, and 4 as indicated in the note above.
Partially Correct Response

10 | Describes a partial method that includes dissolving and/or filtering.
Examples:
Step 2. Add water to dissolve salt (correct). Step 3. Pour the water off (correct). Step 4. This will
give you salt (incorrect).
Step 2. Fill the mixture with water to let the salt dissolve in water (correct). Step 3. Boil the
mixture to separate the salt from the sand (incorrect). Step 4. Cool the mixture to prevent the salt
from hardening (incorrect).
Step 2. Filter the salt solution (correct). Step 3 The sand will be left in the filter (correct).
Incorrect Response

79 | Incorrect (including crossed out, erased, stray marks, illegible, or off task)
Nonresponse

99 | Blank
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The mass of sulbstances A and B are measured on a balance, as shovwwnn in

Figure 1. Substance B is put into the beaker and substance € is formed. The empty
beaker is put back on the balance, as shoswn in Figure 2.

Figure 1 Figure 2

The scale in Figure 1 shows a mass of 110 grams.
W hat will it shosw in Figare 22

{Check one box, )

[ More than 110 grams

I 110 grams

[ ] Less than 110 grams

Explain your answer.
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Code | Response | ltem: S042106

Correct Response

10

11

Less than 110 grams with an explanation that refers to gas production.

110 grams with an explanation that refers to conservation of mass (or nothing lost or gained ).
Examples.

The mass of the reactants equals the mass of the products.

No extra substances were added.

if you mix A and B together to get C, the weight will not change,

Examples:
Maybe a gas is produced that escapes, so the mass would change.

[ncorrect Response

71

Less than 110 grams with an incorrect or ne explanation.

110 geams with an incorrect or no explanation.
Examples:

The same because there is .fr'.:Jl wiel I'JIIII'?S'[I re 2.

Examples:
Figure 2 has no substance B in the beaker. So it may be vauch lighter than figure 1.
Becatise J_',"!ﬁu' solid B was a solid, it would mr!'gl': HIOTE,

Oither incorrect (including crossed out, erased, stray marks, illegible, or off task)

More than 110 grams with an incorrect or no explanation,

Examples:

The mass of the solied (B) increases when heated as it expanded, Thus adding on to the weighl.
Becanse substance B is miixed with substance A, so [ think if will be heavier.

| Blank

Nonresponse

) Clagla =7

} vGn U I Aak]l yGn
I 512z O571 2
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Which model shows the correct positions of protons (p*), electrons (&7) and
neutrons (n} in an atom?

/" P \ nucleus /' P "\\, nucleus
A~ (N

e 1 n J e (B | |

! B \ N\

N _.// \
- B . nucleus P _-nucleus
(&)} | —_— { ) V2
Ly |I \ P/ al © | I\_/ ;
e st

__/

' - e

i lpad) Claglea -5

Aa Kk yGn| ¢iis
I 51z O5i z
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Tom took a glass of milk and tested it with blue litmus paper. The litrraus paper

stayed blue. After two days, Tom tested the same milk with blue litmus paper
again, and the blue litmus paper turned piuk.

What lkind (Jrkllil]1fl|L' took [‘ltill._{' in the mill?

{Check one box.)
[ ] Chemical change

| Physical change

Fxplain your answer.

rdggad) A3l Jlpadl aatl) Jala—5
ia#0) pia* T PAk yva yusU&d eod&GOod@dT ¢
L10) T aH) pA
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Moder i} 1f mare tham one correct response is given, priorily should be green to Code 1 then Code
VN thain Codde 12,
i) Responses that check physical change and describe chemical change should receive Code

ra B

Code | Response I Lemn: 083100

|  Correct Response

M | Chemical change and explaing that the milk bad become acidic
Frampies

The ecidiiy civmaged. Theis shows thar cheion! s are reaotding wiaio resulis dn cthe change.

The oaitk fas drerned ocid, thies the lilsrs pager e red.

The sk champed from o fase foan aoid,

Thue hecferin (o medlk ferned supar o acd

11 | Chemdcal change and explains thalt new sohstances are forming {chemical reaction aking place]
OR mentions decompenitionTermentation.

ﬁ':llru]‘ll'n-:

The stk leas ftarfed to decormpose which s @ chemical charmge,

e ik became sour arad carnot be dmnd. A chesiog! chamge bas cocurred bocanse a roe
by i frarneal

12 | Chemical change and explains that Bacteria have gronwn Cand “spailt” the milk],
Emamples

The minlk furmed sover froor Bocleri.

Bepawse ey wgre bagheria in if

13 | Cheamical cheange wirh an explamation referring se differemces hevwesn physical and cheimnical
chamges.

Emmples

Chemical chiwges dre Trreversible, whils plosica! chamges sire reversine,

The st cenrpod b dromaformed hack fwne s origdaod staie, dfieis JF s chyrmicg),
19 | Oihier coirect

FExmples
The itk woidd bave sraseted 1o go i
The suidl dee st 5o it 45 @ chesnivad choeege,

| Incosrect Bespomnse

T | Chemdcal change with an noarrect or o explanation
Emamples:
The minlk wais older s ) canecd e ciednricd iy im dive middk Jo Ao

71 | Physdcal chang wilh ar withool an explaration.

Exiesipis:

After 2 diaps, hacterda have erfered dhe sitk, mokieg the oafdk spod. Thus dherne is o chomge 1R oolor
i daste of e il

A e chamge took place o the clamge casinad Be reversilile

Oihvir Encoreecs (including crassed out, erased, strey marks, illegibde, or off task)

%4

Blank

: Mgad) cilaglea =7

Aa Kk y Gn
I 51z O5i z
See Applying | Chemistry
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Which gas could cause rust to form on a metal can?

e
)

P
I\III/

Hydrogen
Oxygen
MNitrogen

Helium
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